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SOCIOLOGY Avulxs [Qsq
PAPER-II Yy-I1

Note : This paper contains FIFTY (50) Multiple-choice/Assertion and Reasoning/
~ Matching questions, each question carrying TWO (2) marks. Attempt All
the questions.
Ale : 3 Naoll v (40) eigfaselly wadl, A-vilg A ASSL s-uadlril Wl
8. duld Wadi-l FaUst dvdldl 8. Acds us-L 4 () I B,

1. Therules of behaviour in society are 1. Myl ad--w [(Rul siiawy

known as : 8.

(A) Values (A) yeul
(B) Norms (B) 4l
(C) Sanctions () uvia
(D) Folkways @) d@sdl

2.  Who said that nuclear family isa 9 4§ 56 3, A8l g0 R NPT o

fit’ with Industrial society ? il A0 vy 87
(A) R. Merton (A) R, HéH
(B) W. Goode (B) svey. AS
(C) Milton Singer ©) Bleet AR
(D) W. Moore D) soey,. YR
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Which of the following is a secondary
group ?

(A) Family

(B) Trade Union

(C) Play Group

(D) Friends

The concept of ‘Pattern Variables’

is associated with :
(A) Talcott Parsons
(B} George Homans
(C) Robert Merton
(D) Ferdinanﬂ Tonnies

The specific ideas that people hold

to be true are known as :
(A) Laws
(B) Norms

{C) Values

(D) Beliefs
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A group in which an individual

obtains membership automatically,
sometimes by virtue of birth is

called as :

(A) Voluntary

(B) Involuntary group
(C) Formal group

(D) Informal group

In the studies on rural communities
in India, the study of Shamirpet

constitute a :

(A) Case study

(B) Pilot study

(C) Census

(D) Diagnostic study

Which of the following is not an

agency of socialization :
(A) Family
(B) School

(C) Media

(D) Police
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9. ow? [ alal yas Gl sula-l

9. When a boy of lower caste

@o = -
marries a girl of higher caste, it aala Al @ 3 cul dd

is known as - Al d 9

(A) Hypergamy (A) M1did [Qas
(B) Hypogamy B) u@diH Ra
(C) Levirate | ©) Ruz ag

{D) Sororate D) 2wl [Qaie

10. Identify the characteristic of 10. 0A-uMi e @aml 2w 53

community from amongst the

following : (A) ¥issy #ly

(A) Definite goal (B) W95 UeuE
(B) Voluntary membefship

(C) wyells wan
(C) Collective life

(D) Temporary membership D) SIHAAUG AG¥YE

11. Which of the following is ascribed 11, «(l3sidll sui Wi e3o% 07

status ?
(A) 453 w4 (@A)
(A) Soldier

{B) Husband (B) ula
(C) Eldest son (C) el €ls:i
(D) Leader D) Adl

Sociology-11 6



12.

13.

An effort to learn the behaviour
patterns by a person for acquiring
membership in another group of

which he is not a membe;- ig called :
(A) Conformity

(B) Socialization

(C) Resocialization

(D} Anticipatory socialization

Which one of the following
techniques is used in all scientific

studies including sociology ?
(A) Interview

(B) Survey

(C) Case study

(D) Observation

Sociology-II
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14. Rewards and punishments 14 yye¢ scwad Hecd 00U s

associated with role expectations are . . |
pect dagla sul A sivuy 87

called :

(A) aial
(A) Norms

(B) el
(B) Values
(C) Mores (C) alslUR
(D) Sanctions D) Ry

15. Robert Merton’s functional 15. 61d ‘lé'i';[, wsiufons Yisisy

paradigm is a :
(Paradigm) & :

(A) functional theory
(A) Mstulews Rigid

(B) framework for functional

(B) ustules [@sdwe sl 3uivy

analysis
(C) ecritic of Radcliffe Brown’s views (©) (s abrt-u BRIl wla
(D) support to Malinowski’s views (D) ula-usl- RAaig augdd

Sociology-IT 8



16. Which sociological term is used to’

17.

denote a social position that a person
attains through personal efforts on

performances ?

(A) Social position

(B) Achieved status
(C) Ascribed status
(D) Prestige

The programme of economic

globalization in India is linked with :

(A) The Davos summit

(B) The structural adjustment

programme
(C) UNDP

(D) Incredible India Programme

Sociology-II
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18. Which of the following is correct ? 18 «|Auisl 5§ wi 7

(A) Polyandry — a woman
having more
than one

husband

(B) Levirate — a man
marrying sister
of dead wife

(C) Exogamy — marrying with-

in same gotra

(D) Hypergamy — a woman
marrying a
man of lower

social status

19. When a way of life changes 19.

under the influence of another

culture, we call it :
(A) Transformation
(B) Integration

(C) Acculturation

(D) Socialisation

Sociology-I1 10

Ay wela-gl —

B) [ty ag —

(©) oldeon —

(D) AalH @

AL WS sl

ay uld el
a2l uei-Al
ol A @
A2oL @

(M sl

gL Y3™

A wfll do

AU Wy AlAAL uslg dsa

@Y ugld sedld 8 Al g

dd awudly §

(A) 3uldR
(B) A%
(C) wRAlAszw

(D) AHUFsIA



20.

21.

22.

The concept of ‘dominant caste’ was 20

first developed by :
(A) N. K. Bose
(B) A. Beteille
(C) S. C. Dube

(D) M. N. Srinivas

The concept of ‘life style’ put forward 21.

by Max Weber refers to :
(A) Status
(B) Power
(C) Class

(D) Ethnic group

Father’s brother’s daughter-in-law is ~ 22.

an example of :
(A) Primary kin
(B) Secondary kin
(C) Affinal kin

(D) Consanguineal kin

Sociology-I1 1 l
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23.

24.

25.

Which among the following is a
community ?

(A) Trade Union

(B) Indian Society

(C) Malayalis ii-ving in a slum
(D} People of Indian Origin
Which of the

following is

mismatched ?

(A) Primary Group — C.H. Cooley
{B) Generalised — G.H. Mead
others
(C) Neo-function- — Talcott
alism Parsons
(D) Codification — Robert
of functional Merton

analysis
The term Positivism’ refers to :
(A) Positive Thinking
(B} Positive Attitude
(C) Philosophy of Science

(D) Philosophy of Life

Socialogy-II

12

23.

24.

el 5§ uyen & ?

(A) 28 YRy

B) sdld Wy

(C) usudll dl naydl disi
D) eldAl YRl dis
LAl s el Assi 97

A4) Mals s — A2z

(B) vy llsie —
2. ¥ qs

(©) Aa-siulaisae — aasie
iy

(D) stufees AdNAd — od

Aidls Y-,

UAUBUE vy g7

(A) 8511cs QAR 5l

(B) 851U AaQ

(€) [ edq

(D) - g3l



26.

27.

28.

A sacred symbol in a given society
is considered as sacred because it

represents :

(A) Supernatural power

(B) Collective conscience
(C) Aesthetic significance

(D} Non-material culture

‘Who first used the term Reference

group ?

(A) Herbert Hyman
(B) Robert Merton
(C) 8. Stouffer

(D) Talcott Parsons

Who gave the concept of folk-

society ?

(A) Radecliff Brown
(B) B. Malinowski
(C) Robert Redfield

(D) Ruth Benedict

Sociology-IL
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29.

30.

31.

The dialectical approach has been

applied to the study of emergence

of nationalism in India by :
(A) Jawaharlal Nehru

{(B) G.S. Ghurye

(C) A.R. Desai

(D) Louis Dumont

Social distance 1s often associated
with scaling technique developed

by :

(A) Thurstone
(B) Likert
(C) Moreno
(D) Bogardus

The frequency distribution can be

pictorially illustrated by using :
(A) Single figure

(B) Histogram

(C) Correlation

(D) Drawing inference

Sociology-1I
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32.

33.

In a study focusing on assessing
socio-economic status of the
members In a community, when

researcher uses telephone directory

as a sampling frame, what will be

" the outcome ?

{A) Random sampling

(B) Biased sampling

(C) Adequate sampling

(D} Representative sampling

Identify the correct row indicating

measures of central tendency :

(A) Reliability, Validity and Mean

{B) Mean, Mode and Reliability

(C) Correlation, Test of significance

and Median

(D) Mean, Median and Mode

Sociclogy-11
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34. Who puts forward the distinction

35.

between sacred and profane which

form the basis of religious life ?
(A) Pareto

(B) T. Parsons

(C) Weber

(D) Durkheim

According to Max Weber, Authority

refers to :

(A) Person holding higher position
in society
(B)

Person having prestige in

society

(C) Leadership position in any

group
(D) Power that is legitimised by the

society

Sociology-11
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36. ()

(&)

According to Durkheim, too
much of integration in the
society influences the rate of

suicide.

An example of this is the
increase in rate of suicides

among divorced men.

Give correct answer from the

following :

(A)

(B)

(€)

(1)

Statement (i) and (i) are

correct

Statement (i) and (i) are

incorrect

Statement (i) is correct, but

(if) is incorrect example

Statement (i) is incorrect, but

(i) is the correct example

Sociology-11
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37.

38.

Which thinker coined the term 37.

‘Ethnocentrism’ ?

(A) William F. Ogburn

(B) William G. Sumner

(C) Ralph Linton

(D) Edward B. Taylor

According to whom, the four 38.

functional prerequisites are

necessary for the existence and

survival of social gsystem ?

(A) Parsons

(B} Dahrendorf

(C) Simmel

(D) Merton

Sociology-11 18
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39.

40.

‘Which

Which of the following does Marx

consider to be part of

superstructure ?
(A) Ideas and Thoughts
(B) Land and Machines
(C) Means of Production
(D) Class conflict

concept did Emile

Durkheim use to refer to a
condition of normlessness in the
society ?

(A) Social fact

(B) Collective representation

(C) Anomie

(D) Moral Density

Sociology-TI
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41.

42.

Functions of conflict were identified

by :

(A) Talcott Parsons
(B) Ralph Dahrendorf
(C) Karl Marx

(D) Lewis Coser

Whose name is associated with 492,

‘residues’ and ‘derivatives’ ?

{A) Durkheim

(B) Marx

{C) Dahrendorf

(D) Pareto

Who had made the statement, 43.

“Ruling ideas of every age are the

ideas of ruling class” ?
(A) Weber

(B) Mannheim

(C) Marx

(D) Pareto

Sociology-II 20
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44.

45.

46.

According to Karl Marx, which one
of the following is the base of all

social systems ?

(A) Capital

(B) Labour

(C) Mode of production
(D) Means of production

Who criticised and attempted to
reformulate the basic postulates of

functional analysis ?
(A) Merton

(B) Parsons

(C) Malinowski

(D) Radcliff-Brown

Which of the following is an
exclusively micro-level perspective

of sociology ?

(A) Functionalism
(B) Conflict theory
(C) Exchange theory

(D) World system theory

Sociology-1I
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47. From the following identify the

mismatch :

(A) Functionalism -~ Talcott
Parsons
(B) Conflict — Herbert
theory Spencer
{C) Symbolic — G.H. Mead
interactionism

(D) Critical theory — Herbert
Marcuse

From the following, identify

the theorist belonging to

interactionism :
(A) Levi-Strauss
(B) Malinowski
(C) Dahrendorf

(D) Blumer

Sociology-II
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49. Match concepts (I) with the

sociologists (II) :

Column I Column II

(@) Cultural lag (1) C.H. Cooley

(b) Latent function (2) E. Durkheim

{©) Primary group (3) W.F. Ogburn
(d) Mechanical

solidarity

(4) R.K. Merton

Give correct answer from the following

key:

@ & @©©
Ay 1) @ 3 @»
B @ @ @ @
C) @ 1 @ 3
M @ @ 1 2

. Which one of the following scholars
has contributed to sociology of

knowledge ?

(A) Raymond Firth
(B) C.W. Mills

(C) Robert Merton

(D) Karl Mannheim
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49.

50.

(A »ude v, d-dl W ulet

AMZ WP, WA AS| :
PACCE | siqy 11

@ Uglas el o {29, gdl

® wnae sl @ 6. guidu
@ wals qu (3 seiey,
g, vl

@ UiBs vsdl @ wWR.3, WA
AAniel Wwal Gz euldl ;o
GaR :
@ G @ (@
A 1 @ G @
(B) 2) 3 @ (@
Cy 4 O @ @
D 3 @ Q) @
[agtd  sti--l

o Uslar 541

AHIFAWRAHL Yidteln 547
(A) 34vs s

(B) l.seiey. ey

(C) et HA

(D) std A-eidy

IPT.0.]




ROUGH WORK
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